
Classic Series                                        86RF110D, 86RF110S                            
                                 
  IN448                                                                        7/1/10 

Owens Products Inc. 1107 Progress Street Sturgis, MI 49091 269-651-2300 Toll-Free:800-726-9367 
Fax: 269-651-9326 www.owensproducts.com 

1) 

Hardware included shown on right. 
 
Tools required: 
 
 1/2”  socket 
 Drill 
 5/16” Drill bit 
 Flat screwdriver 
 
 

Page 1 

DRILLING INTO VEHICLE IS REQUIRED! 

Start by removing push pin in rear inner  
plastic wheel well cover.  

BT63 
PASS SIDE 

BT64 
DRIVER SIDE 

BOLT  
PACK 

2) 

Pull inner plastic wheel well cover back 
and install clip nut into hole where push 
pin was. 

3) 

Insert a 5/16” flanged bolt through first 
hole in the bracket to help hold in place. 
Then place bracket against pinch weld on 
bed and make a mark; drill a 5/16” hole. 

Make mark and drill 



Classic Series                                        86RF110D, 86RF110S                            
                                 
  IN448                                                                        7/1/10 

Owens Products Inc. 1107 Progress Street Sturgis, MI 49091 269-651-2300 Toll-Free:800-726-9367 
Fax: 269-651-9326 www.owensproducts.com 

4) 

Insert 1-1/2” 5/16” flanged bolt and washer through the first slot in 
the mud flap then through first slot in the bracket and attach to the 
clip nut on the fender, just snug. Insert 3/4” 5/16” flanged nut 
through bracket and pinch well and tighten with nut. Level mud 
flap and make a mark through the slots on the mud flap and 
through the bracket. Then drill a 5/16” hole for each mark. Insert a 
1-1/2” flanged bolt and washer through mud flap and bracket and 
snug. Make sure mud flap is level and tighten down any and all 
nuts and bolts. 
 
Repeat for other side. 


